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This paper is divided into THREE (3) sections:

PART A   Multiple Choice:
Mark your answers on the answer sheet provided.  Do not mark the exam paper in any way.



Part A Worth 30 marks – allow approx 30 minutes.

PART B  Short Answers:
Answer 3 questions – each answer should not be more than one page of normal writing.

Part B Worth 45 marks – allow approx 50 minutes

PART C  Essay Answer:
One extended essay style answer.  This should be two to three pages of normal writing.

Part C Worth 25 marks – allow approx 40 minutes

Remember to hand in your exam paper with your answer booklet

at the end of the exam.

PART A:
MULTIPLE CHOICE

Answer ALL questions on the answer sheet provided.  Do not mark this exam paper in any way.  ALLOW APPROX 30 MINUTES for this part.

1. If all the resources of a country are fully employed
(a) It may still be possible to increase material welfare

(b) Welfare is at a maximum

(c) Optimum production has been achieved

(d) There is not economic problem

2. The economist does NOT assume that
(a) People are motivated solely by money

(b) Some goods are scarce for each person

(c) People exhibit wants for a multitude of goods

(d) People are motivated by the desire to improve their material welfare

3. In an open economy injections into the circular flow of income include increases in

(a) Taxes

(b) Government expenditure

(c) Savings

(d) Imports

4. When confronted with the choice of building a by-pass for $2 million or building two schools at $1 million each the government decided on the latter.  The opportunity cost of this decision was:

(a) The by-pass

(b) $2 million

(c) $1 million

(d) It is not possible to tell

5. Which one of these statements is true?

(a) The problem basic to economics is inflation

(b) Choice is necessary because of limited wants

(c) The means to satisfy wants, that is the factors of production, are limited

(d) The basic economic problem has changed since the Great Depression

6. Which one of the following is NOT an economic problem?

(a) Deciding between extra paid work and extra leisure

(b) Deciding between expenditure on one good or another good

(c) Deciding on the level of personal saving

(d) Deciding between different ways of spending leisure time

7. “If I didn’t have a date tonight, I would save $20 and spend this evening playing dungeons and dragons.”  The opportunity cost of the date is:

(a) $20

(b) $20 plus the cost of foregoing a night playing dungeons and dragons

(c) Dependent on how pleasant a time one has on the date

(d) The cost of foregoing a night playing dungeons and dragons.

8. The distinguishing characteristic of an economic good is
(a) That it is scarce

(b) That it is sold in the market place

(c) That resources must be used to produce it

(d) The consumer derives utility from owning it

9. Different societies have evolved different methods of tackling the economic problem but while their methods are different one ultimate aim appears to be the same.  That aim is

(a) To make their country richer than all other countries

(b) To make the best possible use of their available resources

(c) To achieve equality of incomes

(d) To provide their consumers with the widest possible range of consumer goods and services.

10. In a free enterprise Capitalist society, the allocation of the factors of production among the various productive activities is determined by:

(a) The traditional employment of the factors

(b) The needs of the country

(c) Decisions of the Government

(d) The pattern of consumers’ spending

11. In a planned economy the economic problem of what shall be produced is determined primarily by:

(a) Direction by the Government

(b) People producing directly to satisfy their own wants

(c) The pattern of consumers’ spending

(d) The independent decisions of entrepreneurs

12. Which of the following statements are true?

(1) Income flows because everyone’s income is someone else’s expenditure

(2) Income flows because everyone’s expenditure is someone else’s income

(3) Investment adds to the flow of income

(4) Saving adds to the flow of income

(a) All four statements

(b) 1, 2, 3

(c) 3, 4

(d) 1.

13. Which of the following does NOT describe interest, rent and a wage rate?

(a) Each is a price

(b) Each is an income to some and a cost to others

(c) Each is a payment to a factor of production

(d) Each is a reward for entrepreneurship

14. In a circular flow diagram the money households receive comes from
(a) The sale of labour resources by householders to firms

(b) The sale of capital resources by households to firms

(c) The sale of the productive services of land by households to firms

(d) All of the above

15. The conventionally accepted law of consumer behaviour (as phrased by Keynes) may be correctly expressed as follows

(a) As income increases, people increase consumption proportionally

(b) People increase their consumption as their income increases but not as much as the increase in their income

(c) People increase their savings as their income increases, not their consumption

(d) One person’s consumption expenditure is another person’s income

16. In an open economy injections into the circular flow of income include increases in

(a) Taxes

(b) Government expenditure

(c) Savings

(d) Imports

17. Consumer sovereignty means that
(a) Consumers are protected against defective goods and certain sales techniques.

(b) Only consumers can determine the distribution of a nation’s product

(c) Consumers’ decisions, concerning their allocation of income, largely determine the nature of production

(d) The actions of consumers in the market place largely affects demand and supply, and therefore the price, of goods and services

18. If a demand curve shifts this could be the result of
(a) A change in price

(b) A change in the conditions governing supply

(c) A change in taste patterns

(d) A change in the market equilibrium

19. Compared to the price-elasticity of demand for petrol in general, the demand for a particular brand of petrol is

(a) Inelastic because demand for each brand keeps on rising as population grows and becomes more affluent

(b) Inelastic because in the short term there is no effective substitute for petrol

(c) Elastic because if the relative price of one brand rose, customers would buy other brands which are close substitutes

(d) Elastic because if the relative price of one brand fell, sellers of the other brands also would reduce their price

20. A good is inferior
(a) If demand for it falls as income rises

(b) If demand for it falls as price falls

(c) If it is substituted for by other goods as its price falls

(d) If less of it is demanded as years of economic growth go by

21. A supply curve will generally take an upwards sloping form from left to right because

(a) A producer’s average costs decrease as output increases

(b) The Law of Diminishing Returns applies

(c) Market price normally exceeds average cost of production

(d) Consumers’ incomes tend to increase in the long run

22. The supply of wool and the supply of lamb/mutton may be inter-related because they are:

(a) Complementary

(b) Competitive

(c) In joint supply

(d) Perfectly inelastic

23. “Market equilibrium” is achieved
(a) Only after government intervention

(b) At a price at which the amount willingly supplied and the amount willingly demanded are equal

(c) When there is an equal number of consumers and producers in the market

(d) When there is not shortage of the commodity

24. The price system
(a) Sets up incentive for firms to produce what consumers want

(b) Determines each person’s income through the prices of his resources

(c) Both of the above

(d) None of the above

25. Public goods are those which
(a) Are supplied free by the government

(b) Are consumed collectively by the community

(c) People buy without realising that they will not get satisfaction from them

(d) Are produced by a public enterprise as distinct from a public or proprietary company

26. Collective, or public, goods are those which
(a) If made available to one must be made available to all

(b) Are made available free of charge although they can be priced

(c) Are produced by governments

(d) Are financed from income tax

27. Externalities cause the competitive market mechanism to allocate goods and resources inefficiently because

(a) Third parties always will be hurt by the effects of externalities

(b) The signals given by the competitive market will be ignored by producers and consumers

(c) Prices always will be higher than they should be

(d) The competitive markets will fail to give producers and consumers correct signals

28. Police protection is provided free by the government because
(a) Police protection could not possibly be financed through the price system

(b) If it were not provided free, only the rich could afford protection

(c) Otherwise there would be no police force

(d) In a competitive market the standard of police protection would not reach socially desirable levels

29. A pure market economy is unlikely to provide a sufficient amount of a public good such as a national defence because

(a) Consumers are poorly informed as to the value of national defence

(b) It is impossible to prevent non-paying customers from receiving national defence

(c) National defence does not yield a benefit to individuals

(d) Private firms will be less efficient than public firms in producing a public good such as national defence

30. If the production possibility curve for two goods shifts so that it moves further from the origins throughout its length, this could be due to

(a) A decline in the level of unemployment

(b) An increase in productivity of a factor of production

(c) An increase in consumer demand for both goods

(d) A substitution of capital for labour using given production processes.

END OF SECTION A

Go directly to the next section of the paper

PART B
SHORT ANSWERS

Answer ANY THREE (3) questions.

Write your answers in the answer book provided, starting EACH QUESTION on a NEW PAGE OF PAPER.

Each answer should be approx ¾ to 1 page of NORMAL WRITING

QUESTION 1

What is meant by the term OPPORTUNITY COST?  Explain why opportunity costs arise and relate this concept to society’s allocation of resources.

QUESTION 2

Use diagrams to explain how the PRICE MECHANISM operates to equate supply and demand for a particular product

QUESTION 3

Clearly differentiate between an INCREASE and an EXPANSION in demand, explaining the factors that cause each of these changes to occur.

QUESTION 4

Explain the nature of the basic functions performed by any ECONOMIC SYSTEM.

QUESTION 5

Why is UNEMPLOYMENT considered to be an undesirable factor in a modern economic system?

END OF SECTION B

Go directly to next section of the paper

PART C
ESSAY ANSWER

Write your answer in the answer booklet provided, ensuring that you start this section on a new page.

This answer should be between two and three pages of normal writing.

1. Construct a model of the Circular Flow and explain the role of Leakages and Injections. (15 Marks)

OR

2.
i.
What is meant by the term ‘equilibrium’? (2 Marks)

ii. Where doe Market equilibrium occur? (8 Marks)

iii. What happens in markets when the price is above and below the equilibrium price? (15 Marks)

OR

3.
i.
What are the four (4) economic objectives of Government? 








(10 Marks)





ii
Explain fully why price stability ought to be a major

responsibility in a capitalist economy.

(15 Marks)

END OF PAPER
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